
S4(4) (mod 3)

blocks defect matrix

G : 1 2 9× 5
2 0 181 = χ2, ϕ2

3 1 3× 2
4 1 3× 2
5 1 3× 2
6 1 3× 2

blocks defect matrix

7 0 1531 = χ12, ϕ10

8 0 2251 = χ17, ϕ15

9 0 2252 = χ18, ϕ16

10 0 2253 = χ19, ϕ17

11 0 2254 = χ20, ϕ18

Block 1: ϕ1 ϕ3 ϕ4 ϕ5 ϕ19

11 = χ1 1 . . . .
341 = χ3 . 1 . . .
342 = χ4 . . 1 . .
501 = χ5 . . . 1 .
851 = χ10 1 1 . 1 .
852 = χ11 1 . 1 1 .
2561 = χ25 . . . . 1
3401 = χ26 . . 1 1 1
3402 = χ27 . 1 . 1 1

ϕ1 = 11
ϕ3 = 341
ϕ4 = 342
ϕ5 = 501
ϕ19 = 2561

Block 3: ϕ6 ϕ11

511 = χ6 1 .
2041 = χ13 . 1
2552 = χ22 1 1

ϕ6 = 511
ϕ11 = 2041

Block 4: ϕ7 ϕ12

512 = χ7 1 .
2042 = χ14 . 1
2551 = χ21 1 1

ϕ7 = 512
ϕ12 = 2042

Block 5: ϕ8 ϕ13

513 = χ8 1 .
2043 = χ15 . 1
2554 = χ24 1 1

ϕ8 = 513
ϕ13 = 2043



Block 6: ϕ9 ϕ14

514 = χ9 1 .
2044 = χ16 . 1
2553 = χ23 1 1

ϕ9 = 514
ϕ14 = 2044


